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1. What is the difference oi’(?x2 g 5']and(2x2 S

—5x2 —5x—1
Sx2+5x+1
Sx? +x— 11
9x? + x — 11

oo w >

2. Whatis(2x — 7) — (x — 9)?

A x—168
B. x+2
C. 3x—186
D. 3x+2

3. What is the simplest form of this expression?

(27 +8)+(37-1)

A 642607 -8
B. }'2 +7

C }'J' +7

D g}.z

4. Which polynomial expresses the difference of the two polynomials below?

[—aucf‘ +8k7-8) - (zkf‘ ~ 1132 +5

A _6k®+19%2— 13
B- _6k%+19k%-3
C. -gaf-3k?-13
D. —gg8gxt-3

5. Which binomial must be added to (-3t + 6) so that the sum of the polynomials is (10t - 1)?

A Tt+5
B 13:+5
C. 7t-7
D. 13¢-7
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6. What is(5y + 6) — (10y + 3)7
A —Sy+3
B. —5y+9
C. 5p+3
D. 5¥+9

7. Which polynomial is equivalent to,{;l(}g,* o 1T g'}’_J

A 3p% _ b2+ b2
B 3p% _6p2+9
C. 3p9_66°+9
D.

358 — 653 + 982

8. What binomial must be subtracted from(g; — 4)so that the difference of the 2 polynomials is
(57 + 15)?

A 13r+11
B. 13r-19
C. 3r+11
D. 3r-19

e

i LY ; "
Which expression is equivalent to[ 3y + 3} + |J,-2 L ]} +2y+ (}-2 £ ’r]?

Tv+4
Tv+6

7
2y +3y+4

o o w?>

Hle3p+4

10. Which polynomial expresses the product_?,x[|5x2 44— 5'}?

18 +4x—6
R = 12h—
—18x° + 12x” + 18x
—18x° — 12x% + 18

oo ® >

11. Which statement is true?
A Sx—(x+8)=4x-8
B. Sx—(x+8)=4x+8
C. Sx—(x+8=5x—8
D. Sx—(x+8=5x+8
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12. What is the sum of{4; + 3) + (4 + 2)7

A 1602 +20r+6
B. 13»

C glts
D. 8+5

13. All the rectangular public-information signs in a shopping center are built
such that, for some integer x, they are (x +4) feet high and (x*-4x+7) feet

wide. In order for painters to paint a sign, they must first calculate the
area. Which expression represents the area, in square feet, of each sign?

A x¥+8x°+23x+28

X¥—9x+28

w

C. x3—4x%+7x

x¥—16x

©

14. What is the sum of{24 — 3} + (44 + 1)?

A 44

B. 6d—2

C. 64*-2

D gg?—104-3

15. What is the simplest form of (6x — 7)(4x + 5)?
A 24x? —58%x—35
B 24x2-2x-35
Co 24x?+2x-35
D 24x% + 58x - 35

16. Which expression is equivalent to (2x%2 + 6x - 1) - (3x2 - x + 3)?
A X2+ 7x-4
B. "X+ 7x + 2

C. x2+5x-4

©

X2 + 5x + 2
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17 (352 — 4+ 7) - (22 +x+ 5) =

2
A xi_5x 42
3
x“—3x+12
Co 5yl _5¢+2
D.

Syt —3x+12

18. The perimeter of a triangle is] 7, — sunits. One side is3,- 4 sunits and another isg, _ 3units. How
many units long is the third side?

A fx—7
B. fx—13
C. 12x-7
D. 22x-23

19. Which polynomial expresses the difference of the two polynomials below?
(7K + 7k — 10) - (4K - 117 +2

A st —ar?t-g

B 3t —ax?-12
C 3kt +18k2-8
D 3t 1 18k% - 12

20. Which polynomial is equivalent t°(4rz— 1}3?

A 1ent+1

B 16nt —4n+1
C o i6ni—gn+1
D. 8n-2

21. What is the product of (k — 13) and (k + 6)?
A k219178
B 2
E2—Tk—78
C k24+7k-78
D 241978

22. Which expression is the product of(x 3 3'}(3}:2 Y et 4'}?

3x° — 3x% + 4x + 12
30 + 6x0 — Sx + 12
3x° + 9x7 — 8x + 12
3x° + 12x2 — 13x + 12

o o w2
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23. What is the simplest form of this expression?
2 2 )
[—6y2+3)+ (20%-1)

g
—4yp©+2
2
1t 412yt =3
-2y

7
—4yp©+2

oo ® »

24. Which binomial must be subtracted from (8¢ — 3) so that the difference of the 2 polynomials is (4t
+9)?

A 12¢-12
B. 12¢+6
C. 4-12
D. 4r+6

2

25. Which is equivalent to[3x i L.qu

Oxc? + ﬁx}'z +},—L

2 .
Ox* 4+ 3xy” + J."L

2
O+ _:L'-L

o o w2

2
bx + 2y°

26. Which expression is equivalent to the product of 3x - 5 and 2x + 77
A 6x% - 35
B. 6x? + 11x - 35
C. 6x%-11x - 35
D. 6x% + 31x - 35

27. Hector entered a 3-day bike race. He traveled)(j;miles on the first day,] 5(r + §)miles the second
day, and25(; — 3)miles the third day. Which polynomial represents the average number of
miles Hector traveled each day?

A 20t+1
B. 20r+5
C. 60r+3
D. 60z+ 15
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28. Which polynomial expresses the difference between these two polynomials?
T p, ) T ) )
(9K7 + &% = 7) - (14K - 6% + 6

A sl 4Tkt -13

B sk’ + 721
C sk’ —s5k2-13
D _5iT 5521

29. What is the simplest form of this expression?

(4% +5)+ (22~ 4)

At
B _gy* +26y% - 20
C. i
D. _9,2
2y +1

30. Which expression is equivalent 02,7 + 4,* — 5,7 _ (?rxJ' = ij.}?

A 11x? +x'L
B. ij +fL
Coogdypryd
D. 5.‘{9

31. Which of the following expressions is equivalent to5(x: — 3)(2x + 1)7
A x?-5x-3
B 2xt45x-3
C 10x?-5x-3
D

102 — 25x — 15

32. Subtract the following ponnomiaIs:(}x2 + 2y — 5'} = (4x2 e _1}

A x4 5x-9
2
B +5x—1
2
C xtex-4
D. ?xl—x—g
APR.1 NEW
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33. What is the sum of{y, — 2 + (5w — 1)7

A ew?—3

B. aw—3
Coosw?_1lw+2
D. 3w

34. When Eric multiplied two binomials together, his result was a trinomial. An example is
(x+Dx+3)= x2 + 5y + i Eric concluded that the product of any two binomials is a trinomial.

The product of which pair of binomials disproves Eric’s conclusion?
A x-Dix+3)
B (x—x+2)
C. (x+3x+3)
D

x—2Ux—2)

35. Which polynomial is equivalent t°(5n o 3)27

A 10116
B 2507 + 64
C. 2
250" — 801 + 64
D 2502 — 401 + 64

36. Which expression is equivalent to|':|5xS I, DR N ]']. = (3x9 g P K 5'}"_1

It 3T+ 4285
ox®+3x’ +4x%—5
9xc® + 3" +4x% 4+ 7
3x® + 11x" — 10x8 + 7

oo we»

37. What is the difference of(?rﬁ by 4'} s (jnz = :'}?

3 )
A —ant+
3 )
B 7w’ —2m?-9
C. sp+1
D. 54—9

38. Which expression is equivalent to “6x%(3x%2 — 5x + 3)?

A ~18x* + 5x2 — 18x
~18x* + 30x° — 18x2
C. -18x® —5x+ 3
~18x% + 30x% + 3

w

©
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39. Which expression is the product of(x it 5'}[2}:3 —3x4 5'}?

oo ® >

40. Which expression represents the difference of[gx3 L 6xt 4 5']and[5x3 gy 1'}?

oo w >

41. What is the difference ol‘[ﬂ}m2 s 5.} —(5m—20)7?

o o w»

42. Which expression is equivalent to|':_‘_x2 o 4} + (le = 1]’_1

o ow>

2x° = 3x7 + Sx + 25

2% + 7% — 10x + 25
2% + 10x2 — 13x + 25
200 + 13x%2 = 20x + 25

3% + 3¢ +3x + 4
37 + 5% +3x + 6
0+ Txl—3x+ 6
3x° + Txt +3x+4

—m — 25
—m+ 15
Am? — Sm - 25

4m® — Sm + 15

3x-—35
3x-3
4x* +3x-5
—4x?43x-5

43. What is the sum of(y — 3 + (3 — 7)7

A

B
C.
D

44. Which of the following expressions is equivalent to3m|{m = 2} L (ml + 1'}?

_6q

3g% — 16g + 21
4g - 10
49% - 10

A w1
g
B 2m?—6m—1
g
Cam?—6m+1
D 4m?-1
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45. Which expression is equivalent o[ + 4, — 3} g (x3 e 1

A 2x-2
B. 2x+2
C. 6x-8
D. 6x+8

46. What binomial must be added to(3y + 14)to make the sum of the 2 polynomials equal(g; — &) ?

A 11r+8
B. 11»-20
C. 5 +8

D. 5-20

47. Which polynomial is equivalent to{1 () — 7) + (8 — 10) ?

A 18 +3
B. 18-17
C. 2r+3
D. 2r—17

48. Which expression is equivalent to (x*-1](x*+1]?
A x°-1
B. x°-1
C. x7—x3+x?-1

D. x%—x34+x2-1

49. Which expression is equivalent to3 (24 + 4&)7

A Bed+ 126
B. 6cd+ 12ce
C. 18cd

D. 18cde

50. Which is equivalent to7y(y — 22 — 312y + )7

A 132 - 11yz

3
B 12y° — 4yz
C. }'2 — 17z
2
Do ys—11yz
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51. Which polynomial expresses the product ofq}-(?,}-l FTy=1 1'}’_1

123+ 711
12y + 28y — 44y
12y° + 28y% — 44y
1203 + 282 - 11

o o w

52. What is the sum of(45 — 3} + (3g — 1}7

A 3g

B. Tg—4
C. 7¢4%-4
D

124 - 13g+3

53. Which polynomial is equivalent t°(3rz 4 ;.-}2?

61+ 14
O + 49

0% + 21n + 49
On’ + 421 + 49

oo wep

54. Which polynomial is equivalent t°(3rz fes 4)2?

A 61—8
B opl_24n+16
C. .y

O —12n+ 16
D.

O’ + 16

55. What is the product of (¢t + 6) and (t+ 5)?

A2 112+30

B 24 r+30
C £4+30
D. 2r+11

56. Which expression is equivalent to(jx 3 5'}(3353 —Ix+ ]'}'fl

A b +19x% — 12x + 5
B 6’ +15x7 = 12x+5
C o6x’+11x>—8x+5
D 6x® —4x? +2x+5
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57. Which expression is the product of{5x + 1) and (xl Eoy— 10'}?

A
B.
C
D

x2+6x—9

Sx° +x— 10

S + 6x7 +x— 10
Sx° + 6x” — 49x — 10

58. What is{3y — 8) — (v — 10)?

A

B
C.
D

2y—18
2v+12
4y — 18
4y +12

59. Which expression is equivalent to the expression below?

W3t +8y-3)-aGr+2-1D+9%

A
B.

C.

D.

60. Which expression is equivalent to(ig2 + 4+ 13'} £ (2[]0 kg ?rz'}?

o o w >

27y + 23y -3
3P -10p+14)
Wi-22+ 12)

g
37 -2 -6y —1

—2¢ — 9¢+ 218
1062 + 11+ 218
126524208

12¢% + 9¢ + 218

61. What is the product of (h — 7) and (h- 2)?

oo w>»

2h—9
n?+ 14
h:—5h+14
h?—9h+ 14

62. Which polynomial is equivalent to5g;3(453 AT m'}?

A 2087 — 358 + 50

B 2057 — 355 + 5057

C. 2085 -358"+ 50

D 2085 — 355" + 5087
APR.1 NEW

Page 12 of 52

a schoolnet



63. Which represents the product of x and y + 47
A x+4y
B. x+y+4
C xy+4
D. xy+4x

64. Which expression is equivalent to (3k + 2)(3k - 2)?

A 6I2 -4
B. OKkZ -4
C. 9k2-6k-4

D. 9k + 6k + 4

65. 3(2x — 4) + 5x — (3x — T)is equivalent to which expression below?

A 8x-—5

B. 8x-11
C. 8 —-19
D. 14x-19

66. What is the sum of(; — 3) + (55 — §)7

A —5g

B. 5¢2-23¢+24
C. 6g—11

D. gg2—11

67. What is the simplest form of this expression?

2 W
1’1’1 + i ™, et
3 12
A ¥
6
B. 3w
4
C. w
4
D. Lliw
12
APR.1 NEW
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68. Which expression is equivalent to4x2 i)

O o0 W

69. 5x|':x =4 2] + 6x — 3(3:3 = ',-"]is equivalent to which of the following expressions?

A

B
C.
D

x4 =57
12x -5
2
A+ Tx =5
2
Ax“+Bx—35

2
"+ 12x+5

26t + 6x—9

22 — 4 — 21
7

2xc—16x+ 21

22 —4x + 21

70. Which expression is equivalent to[jxl L 5} o [_xz s 4'}'?

oo we»

2
x+6x—1

2%+ 6x—9
3+ 6x— 1
4x? +6x—1

71. What is the simplest form of (4v + 3)(5v —4)?

A

B
C.
D

200 —v—12
2007 +v—12
2002 — 31v— 12
2002 +31 - 12

72. Which expression represents a simplified form of the expression
2+3(x-3)+1-5(2-x)?

A

B
C.
D

—2x—16
4x—11
8x—16
9x —23

73. Which expression is the same as (3x + 5x — v) + (4x + v — 4x)7

A 8x

B. 16x

C. 8x—12v

D. 16x+ 2y
APR.1 NEW
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74. Greg measured the lengths of the vehicles in the school parking lot. He recorded
the data in the table below.

Type of Vehicle Length (inches)
Cars 160 [ 176 | 173 [ 182 [ 163 [ 185|180 | 172 | 175 [ 174
Other Vehicles 192 | 95 [ 180 (202 | 98 [ 208 [ 200 | 105|210 | 190

What is the difference in the interquartile range for the 2 types of vehicles?

A 97
B. 89
c. 8
D. 6

75. The heights and bases of two geometric shapes are modeled by the
expressions shown.

Triangle: h=3x+2andb =2x+3
Parallelogram: h =3x+4andb =3x+2

What expression represents the number of units by which the area of the
parallelogram is greater than the area of the triangle?

A Bx%+5
B. Ax2+11

B + §x+5

49
6,>{2+T;c+11

76. What is the product of 4x - 1 and 3x + 5?

A Tx+ 4

B. 12x2 -5

C. 12x>+ 17x-5
D. 12x2 + 23x-5
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T 3@y - 49)=

A. e 6},4' o ?x}l-l-

B _g}.-l- — dxy
C. = 9},4- i 121}4
D. gt + 12

78. Which expression is equivalent to (7x2-3y)%

A 343x5-27y°
B. 343x%—441x* +189x%2-27y3
C. 343x%-27y°

D. 343x°-441x%y2+ 189x*y*-27y3

79. Fix). a 3rd-degree polynomial, and Gix). a 4th-degree polynomial, are both
expressions in terms of x.

Does the function Hix)=Flx)-[Fx)+G(x)] also need to be a polynomial
function in terms of x? If so, what degree is the function H{x)?

A Yes, it is 21st-degree polynomial in terms of x.

B. Yes, it is a 12th-degree polynomial in terms of x.

C. Yes, it is a 7th-degree polynomial in terms of x.

D. No, it does not need to be a polynomial in terms of x,

80. Which expression is equivalent to (3x + y) - (4x - 5y)?
A 7x + 6y
B. 7/x -4y
C. "X+ 6y

D. "x -4y
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81. Simplify the expression.

3 4l + e+ 1 - (30 + 4P - 2x 4
A 0
B _gx?+4x
C 6’ +2
D- 6x? — 8x? + 4x + 2
82. What is the simplest form of (3p + 2)(5p - 7)?
A 15p2-31p— 14
B. 15p% — 11p— 14
C. 15p7+11p—14
D. 15p%+31p— 14

83. What is the sum of{3; + 4) + (45 + 1)7

A 125

B. 75+5
C P45
D

1252+ 195 + 4

84. The expression 5x? + 2x + 3 represents the area of a square. The area of
a rectangle is represented by 2x?2 + 3x + 1. Which expression represents
the combined area of the square and rectangle?

A 7x* +5x% + 4
B. 3x*-x2+2
C. 7x> + 5x + 4

D. 3x?-x+ 2

85. Which expression is equivalent toy — (3x + 5) + 2(x — 3) — 2x7

A —Ix—11
B. —2x—8
C. -2x-1
D. —2x+2
APR.1 NEW . Page 17 of 52
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86. George earns $9.50 per hour and $35.00 commission per sale, but he pays $12.00 in license fees
each week. Mary earns $13.50 per hour and $11.25 for every defect she corrects, but she must
pay $37.00 for tool rentals each week. The expressions below represent their individual
earnings every two-week pay period.

George: 9.5k + 35— 2(12)
Mary: 13.52+ 11.254 — 2(37)

where:

h—the number of hours worked

s—the number of sales George makes
d—the number of defects Mary corrects

If George and Mary work the same number of hours each pay period, which expression
represents their combined earnings for one pay period?

A 23h+4625ds— 196

B. 23k +46.25ds — 98

C. 23h+355+11.254—-196

D. 23h+355+11.254—-98

87. What is the product of (r +9) and (r—7)?

A 1263

B r2-2r-63
C 12 +16r-63
D32 _16r-63

88. Which expression is equivalent to (3x2 - 6x - 4) — (x? + 5x — 4)?
A 2x% - 11x
B. 2x% - x
C. 2x°-11x-8

D. 2x2-x -8

89. Which expression is equivalent to(sx2 A ?'} 52 (_xl + 2'}’_1

A 4 4x+9
B 6x?—6x+7
Coox?—4x+5
D 4 —4x+5
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90. What is the simplest form of the expression below?
[—5}-3 +7)+(3%- 1

A 3l
B. _3y?

C. 316
D

-18* + 272 -7

91. Which expression is equivalent to (3x2 + 1) - (x2 - 5x + 2)?

A 2x2 - 5x + 3
B. 2x2 4+ 5x + 3
C. 2x2-5x-1

D. 2x2 4+ 5x -1

92. What is the sum of(4; + 3) + (25 + 1)7

10s

82+ 105+ 3
652 + 4

6s +4

oo w>»

93. What binomial must be subtracted from(7;- — 5)so that the difference of the 2 polynomials is
(57 + 8)?
A 2r+3
B. 2»-13
C. 12r+3
D. 12r-13

94. What is the product of{2y + 1jand(2x — 1)?

A 4x2
B 4yt -1
2
C 4t —2x+1
2
D 4y _ax -1
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%. What s the sum of —0x* + 6x” + 2’ + »s']ancl[?.xj +38 + 77 + 8]

1252 + 14

Sx° — 6x' + 13x° + 14
510 — 6% + 13x5 + 14
6x — 27x" +42x> + 48

oo we

96. A rectangle has a length of x inches and a width 2 inches less than the length.

(x— 2} inches

Xinches
If the dimensions were doubled, what would be the area, in square inches, of the new rectangle
in terms of x?

A 2x—4
B. 8x—8
Co 2?4y
D

4}:2 — 8x

97. What is the product of{3; + Sjand(yx + 437

A 3220

B P
3x“+9c+ 20

Coo3x?+17x+20

Do 3x? 4+ 7 + 20

98. The length of a rectangle is equal to 3x — 2. The width of the rectangle is
equal to x2 - 4x + 8. Which expression is equal to the perimeter of the
rectangle?

A X2-x+6
B. x> -7x+6
C. 2x% - 2x + 12

D. 2x2 - 14x + 12
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99. Which is a simplified form of the expression below?

3x3-4x3+-1—(3x34-4x3-2x4-i

A

B
C.
D

0
g
—8x*+ 2x
—8x” +4x +2
6> — 8x” +4x + 2

100. Which polynomial is equivalent t0(5.’,,I 2% 2}2-_1

A

B
C.
D

2517 +20n + 4
2517 + 10 + 4
25n% + 4
10n+4

101. Which polynomial expresses the difference of the two polynomials below?

(867 + 50 —5) - (4" 84 +4

A

B
C.
D

4’ -3 -9
IR e
4u’ +13u° -9
407 + 1307 - 1

102. Which expression is equivalent tO(x T 4)2 —(x+ 47

A

O 0

103. If dy =a®+2a+3andd,=2a%+a+1. what is the value of 2(d,~d,)?

X —x+12
xl—x+20
x>+ Tx+12
x? + Tx + 20

A —2a3°+2a+4
B. —2a%+6a+8
C. —-2a*+2a%+4
D. —2a*+632+8
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104. What is the sum of(y; — 3} + (2w — 2)7

2
A 2wt —8w+6
B. 2w
C. 3wl-5
D. 3w—5%

105. Which polynomial expresses the difference of the two polynomials below?
(757 + 9k — 8) — (-2k7 - 12k + 1

A okl +21k-9

B ol y21k—7
C.oor?_3Kk-9
D o2 3k -7

106. Which property can be used to justify thatxl TON S, x3 + sz e B

O +xt 450 +4x—6x— 104372
associative property
distributive property
substitution property

oo wep

commutative property

107. Which expression represents the area of the rectangle below in square units?

L

2x

3x+2
bx + 2
10x + 4
Sx” + 4x
6xc” + 4x

O ow>»
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108. A rectangle is(x i 3 5)meters (m) long and(jx — 1)meters wide.

]

[]

Which expression represents the area of the rectangle in square meters?

A

B
C.
D

2x=1}m

Ix?—g

22+ Tx—6
2+ 11x—6
22+ 13x— 6

(x+86)m

109. What is the sum of(5y — 2) + (3w — 2)7

A

B
C.
D

110. The length of a rectangle is represented by the expression (x + 5). The
width is represented by the expression (x + 3). Which expression
represents the perimeter of this rectangle?

A

B.

111. Which expression is equivalent to[x —x'L,'z-}('L:Z-‘J’ A Ix-}".’

oo w »

15w? — 16w +4
gw? -4
gw—4

4w

2x + 8
4x + 8
2x + 16
4x + 16

3z 2.3 1.3
zt—xyzt+2x—Ixy

2 3.2 2 2 2
wzt—xyzt+ " —x'y

2 3.2 2 2.2
xyzt—xy’z+ Ix* + xy

3z 3.2 2 X 32
wzt—xyz+2xt—2xy
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112. What is the sum of{24 — 5 + (24 + 3)7

A

B
C.
D

2

4d* -2
4d* —4d—15
24

4d -2

113. What is the simplified form of the expression
(6a®+a%-5b%) - (3a%+6a?-2b%)7

A

3a°+732— 7k %

33°-53%-3b°

Ba’—33%*-5a%-3b°%

63°—3a%+732-7h3

114. Which expression is equivalent to (x + 2)(x + 1)?

A

B.

X2 + 2
X2 +3x+2
X2 +3x+ 3

2x2 4+ 3x + 2

115. The expression_lﬁrz - mmrepresents the height in feet of a rocket t seconds after it is

launched. The expression_lﬁrz + 807+ 4represents the height in feet of a second rocket t

seconds after it is launched. Which expression is equivalent to the difference in the heights of
the two rockets in feet?

A

B
C.
D

116. What binomial must be added to[2;- + 5jto make the sum of the 2 polynomials equal to{gy — 1) ?

A

B
C.
D

20¢+4
20¢—4

—32¢% +20¢ + 4
—32¢ +20¢ — 4

Tr—6
Tr+4
11— 6
11+ 4
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117. Which polynomial expresses the productzx[ﬁxl + O — 5'}?

1257 + 18x — 10x
127 +9%x—5
12x° + 187 -5
12x° + 18%” — 10x

oo w >

118.

Which expression is equivalent to(lel.']a(h:lv

3'}?

24558
245! }'g
18516,
185106

oo w »
P

119. Which polynomial expresses the difference of these two polynomials?
(75 + 6k — 10) - (-3k5 — Tk + 1

A 0% + 13k 11

B 10k®—1k-9
Co1ok®-1k-11
D 10k%+13k—9

120. Which binomial must be added to (-2r + 12) so that the sum of the 2 polynomials is (6r =7)?
A 4r—19
B 4r+5
C. 8&-19
D. gr+5

121. Which is a simplified form of the expression below?

3xlx— 1) —4x(3x—2)

A _15x%% + 8x
B —sz + 5x
C. _ox?—11x
D 15x? - 8x

122. What is the product of (h — 5) and (h-1)?

A R _6h+5

g
B nml_4n+s
© K+s
D. 2h—6
APR.1 NEW _ Page 25 of 52

° schoolnet



123. Which expression is equivalent to the expression below?

9}'2

A

B
C.
D

+I—4+2y-6 +1
3P +6y—5
Bles5y-3
1502+ 590 —5
1502 + 6y —3

124. Which is equivalent to (—2)(—x)(—x)(-x)?

A

B
C.
D

125. What is the simplest form of (-4v + 7)(3v - 5)?

A

B.
C.
D.

126. What binomial must be added to{—6¢ + 15)to make the sum of the 2 polynomials equal(7; — 5) 7

A

B
C.
D

127. What is the degree of the product of [3x°+2]and (4x*-1)7

128. Which expression is equivalent t°5x|':x A 3} i 2(x2 gt 4'}7

oo w >

—12v2 —41v - 35
—12v2 - 1v-35
—12v3 4 1v—35
~12v2 +41v - 35

r—20
r+ 10
13¢—20
13¢+ 10

3x7 +9x— 8
37+ 9%+ 8
32+ 21x—8
32+ 21x+ 8

APR.1 NEW

Page 26 of 52

° schoolnet



129. Which polynomial is equivalent togs=(55° — 1052 + g'}”_l

305° — 605 + 4857
3067 — 605" + 48
3085 — 605" + 4857
306% — 605" + 48

O o w2

130. A rectangle has a length of x inches and a width of 2 inches less than the length. If the
dimensions were doubled, what would be the area of the new rectangle in terms of x?

. px—q}mz

SxB

D.

|
C. [Ix ——1x]m
[—1x —Sx]m

131. What is the difference of[gm'-" 10 3'} 2 (Smj s 4'}’_1

4m -7
4m+ 1
om’ —5m7 —7

O’ — Sm +1

O ow>»

132. What is the simplest form of (2p + 1)(2p - 5)?
A 4p412p-5

B. 4p’+8p—5
C. 4p’—8p-5
D. 4p2_12p-5

133. Which expression is equivalent to (x - 2)(x - 6)?
A X2+ 8x+ 12
B. x>+ 8x — 12
C. x?—8x+ 12
D. x?2 —8x— 12
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134. What is the difference of(][];,ff o 4'} —(4n—5)?

A 0w —4n-9
B 10r' —dn+1
C. 5?’:3—9
D 6’ 41

135. Which binomial must be added to(5;- + | 1)so that the sum of the two polynomials is(7; — 37

A 2r—14
B. 2r+8

C. 12r-14
D. 12»+8

136. Which of the following expressions is the simplified form of 7 — 9 + 5x + 14 + 2(3x — 87

A 18x-21
B. 18x-13
C. 18x-11
D. 18x-3

137. Tom is simplifying expressions in his math class.

52c+d)—(c+2d) + (c+ d)

Which expression is equivalent to the expression above?
A 10c

B 10c+4d

C. 10c+84d

D. 12c+ 84

138. Which expression shows[x2 Ly S 1'} o (x3 1 6x + 0simplified and factored completely?

A —Bx+1)
B. 2{2x+95)
Co alx—D+1-x{x+6)+9
D. x—Dx—D—-(x+3Nx+3)
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139. The sum of two polynomials is modeled below.

a a + —a

[

What is the sum of the two polynomials?

A

B
C.
D

2
a +1
2
a +2a+3
2
a -1
2
a" —2a—3

140. What is the simplest form of (5x — 1)(5x + 4)?

A

B
C.
D

141. A rectangle has the dimensions shown.

(x) units

(2x + 3) units

Which expression represents the area of this rectangle in square units?

A

B
C.
D

2243
2% + 3%
3x+2
x+2

142. Which polynomial is equivalent tO(Z e 12)27

Az 2474144
B. z
22+ 144
C 22424z 4144
D. 2724
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143. Which expression is equivalent to 5x(x + 2) - 3(x - 1)?

A

B.

C.

D.

12x - 3
18x + 3
5x? + 13x - 3
5x2 + 7x + 3

144. Which expression is equivalent to (2x — 5)2?

A

B.

C.

D.

4x? + 25
4x? — 25
4x? — 20x + 25
4x? — 20x — 25

145. What is the difference of]:'jan 4 5} & (4?‘33 - 13'}?

oo w >

I —4n’ +7
3 —4n® — 19
-n+7]
—n—19

146. Which expression is equivalent to (6x® + 2x> — 5x — 1)(3x — 7)?

A

B.

C.

D.

18x* — 36x3 — x?> + 32x + 7
18x* — 36x3 — x> — 38x — 7
18x* — 36x% — 29x% + 32x + 7
18x* — 36x% — 29x2 — 38x — 7

147. What is the difference of(_3mJr st 5'} —(5m—10)?

A _gm’+5
B _gm®-15
C 3pit—Sm+5
D 3p' —5m—15
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148. What is (4x—4) — (x + 5)?

A

B
C.
D

Ix—9
3Ix+1
fx -0
Sx+1

149. What is the sum of(3x + 3} + (2r + 137

A

B
C.
D

5r+4
sr2+4
6r2+ 9 +3
Oy

150. Which expression is a simplified form of3x(x:|,- + 3}-3.} - le}".’

oo ® >

2 )
—Sxy + Oy
2 )
—Sx"y + 6xy”
. 2
3Ixy —xy*

2 3 2
Oy — Bxy

151. What is{3x + 12) — (6x + 5)7

A

B
C.
D

—3x+7
—3x+17
3Ix+7
3x+17

152. If the like terms in this expression are combined, what is the result?

x4+ 5+ 3x+ 4y

>

O ow

14xy

6xy + 8yx
5x+ 9y
Ox + 5y

153. What is the sum of(4z — 3} + (3z — 237

2=z
B. 7z-5
C 725
g
D 1222 -17z+6
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154. Which expression is equivalent to 3(6x - 1)(2x + 3)?

A 36x°+ 48x -9
B. 36x% + 52x - 3
C. 36x2-9
D. 54x? - 3

155. Simplify the following expression. Put your answer in simplest form., ; == _ =~
A B
5
B. ¢
15
c. 1oz
15
D. 18

15

156. Which polynomial expresses the productsz(5-2 + 47 — 14'}?

30z° + 2427 — 84z
3027 + 2422 - 14
3027 + 247 — 847
3023 +4z- 14

o o w »

157. What is the product of (k — 4) and (k + 3)?
A ke Tr-12
B kl+k-12
C Kr_k-12
D. FeTi=12

158. What is(5z + 11) — (6z + 7)?

A —z+4
B. —+18
C. z+4

D. z+18

159. What is(5z + 11) — (10z + 7)?

A 5z+18
B. 5z+4
C. —57+18
D. —5z+4
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160. What is the product of (r + 4) and (r — 3)?

A e nr-12
B —7r-12
C »lir-12
D. logiia

161. What binomial must be added to(3; + 4)so the sum of the 2 polynomials is(5; — 27

A 2r-6
B. 2r+2
C. 8-6
D. 8r+2

162. What is the difference °'1::—4rzj s 8] T (ﬁnz e lz.r'}f_J

A 4w’ —6nt—21
B 4n’ —6nt+5
C _1ow’-21
B. —jow*+5

163. Which expression is equivalent to[gx2 —dx + 3'} & (_5;{3 o j}'?

A 3l _6x+3
B 3x? _4x+1
C. Baxd—dnai
D 13x? —6x+3

164. What is the simplest form of (5x — 8)(2x + 4)?
A 10x?+4x—32
B 10x?—4x-32
C. 2
102 + 36x — 32
D 10x? - 36x 32

165. Simplify{ 3 — 5| — (2 — 6).

p
A 3?2y +1
B 3l _2x—11
I T My
g
D 3x?—2x+11
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166. Chris planted some flowers in his garden. Chris planted 3 times as many roses as daisies. He
planted 4 more tulips than daisies. The expression represents the total number of flowers that
Chris planted in terms of d, the number of daisies planted.

Gd)+({d+4) +d

Which is equivalent to this expression?
A 7d

B. 124

C. 3d+4
D. 354+4

167. What is the product of 5x andxz T

A5 10x+1
B 5y® _ 10x+ 5x
Coosd —10x?+1
D

5x° — 10x° + 5x
168. Which expression is equivalent to (x + 8)(x - 8)?
A Xx?+ 64
B. x° - 64

C. x2 + 16x + 64

D. x? - 16x - 64

169. What is the product of (t + 6) and (t+ 3)?

A 2118
B £243¢+18
C +9r+18
D. 2r+9

170. What is the sum of 3x? + 4 and 4x - 4?
A 7x>+ 8
B. 3x% + 4x
C. 3x>+4x+ 8

D. 3x?> +8x - 4
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171. Simplify(2x + 5)(2x — ).

A (4x-25)
B (4x® - 10)
G (ax?-25)
D.

(4% — 20x - 25)

172. Which expression is equivalent tos; + 5, + 4 + 47

A 29a)

B 10a*+8
C. 25a+16
D. 2(3a+4)

173. Subtract=.2 _ 5. { fom Sx2—x— 3.

A i x+2
B. gyt o3
C _2xt+x-2
D 2x2 _x+2

174. Which binomial must be subtracted from (10r — 7) so that the difference of the 2 polynomials is

(93r + 12)?
A Tr-19
B. Tr+5
C. 13»-19
D. 13r+5

175. Which algebraic expression represents the perimeter of this triangle?

Tx+3
ax

15x
llx+3
12x+3

12> +3

oo w>
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| ]
Ly

| ]
L

177. What is the sum of(2; + 3} + (45 + 237

A 11s
B 8s2+165+6
C. 65245
D. fs+5

178. Which polynomial is equivalent to(_y; + 3)27

A nttg
n’—6n+9

C. n?s9

Dl —6n+9

179. What binomial must be subtracted from(4;- — 1)so that the difference of the 2 polynomials is
(2r+ 1177

A 6r+10
B. 2r+10
C. 6r—12
D

r—12

180. A square has a side length of 3x + 5. Which expression is equivalent to
the area of the square minus the perimeter of the square?

A 9x2 + 18x+ 5
B. 9x2 + 18x + 45
C. 9x2 +42x + 5

D. 9x2 + 42x + 45

181 (6x? + 3x - 2) - (2x? - 2x +3) =

>

2
Lo e o s
dx?+x+1
4t +5x -5

)
4x"+5x+1

O o w
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182. Which expression represents the simplest form ofyy, + 3.7
A 3xy
B. 4xy
i
C. 3xy*
D

3 3
oty

183. Which expression is equivalentto? +  + v+ v+ v+ v+ 37

A yIts
B. }':'+I5
C. 5y+5
D. 5y+6

184. Kathy makes brownies using a square pan that has a side measure of x.
She decides that she needs a new pan that is 8 inches longer on each
side. Which expression represents the area of the new pan?

A x2+ 16
B. x2 + 64
C. X2+ 2x+ 16

D. x> + 16x + 64

185. Which expression is equivalent to (2x — 3)(x?> — 2x + 1)?

A 2x3+ 7x% + 8x+ 3
B. 2x3 — x>+ 8x— 3
C. 2x3—7x*+8x -3
D. 2x3 + x>+ 8x — 3

186. What binomial must be subtracted from(§;- — 4)so that the difference of the 2 polynomials is
(2r +13)7

A Br+9
B. 8 -17
C. 4r+9
D. 4r-17
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187. What is the difference Of(—ﬁr33 —~ 10:} - (4?@2 = 1?:}’-’

A _10n+7

B. —10m—27
Coon’—4n?+7
D.

—6n° — 4n* —27

188. Which expression is equivalent to (2x = 1)("3x + 4)?

A x4+ 3

B. ~6x% - 4

C. 6x2+ 5x-4
D. “6x2 + 11x - 4

189. Which of the following expressions is the simplified form of the
expression below?

(x3+3)(2x3+6)-18 [(x3x3)(2x3+6)-18
3 3

2X 2x
A x3+6x3+6

B. x+6x%+6

C. x5-3x%-18 x5-3x%-18

x3 x3

D. x?—3x%-18 x—3x%-18
3 3

X X

190. Which polynomial expresses the difference of these two polynomials?
(84 + 84 —7) - (-2u° - 104 + 2

A 1068+ 184 -5
B 10u5+ 184" - 9
C 10u5-2-5
D 10u%-24t -9
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191. Which polynomial is equivalent to(8; — 53 + (7r — £) 7
A 15r+1
B. 15r—11
C. r+1
D. »—11

192. Which expression is equal to y, if (x*—1)+y =(2x*+5)7

A x%+4
B. x2+6
C. 3x*+4
D. 3x2+6

193. Which expression shows the simplified form °fa3 +a3 +a2+a2+a+a+ 17

A L

2
2a+2a"+2a+1
2
B 24 +2a%+2a+2
3
c. a6+a4+a‘+1
D

a?+1

194. Which polynomial is equivalent to(12y — §) + (51 — 9)7
A Ty—17

B. Ty+1
C. 17y—17
D

17y +1

195. Which polynomial is equivalent to(4y + 5}2?

A 8n+10

B 16n*+25

C. 16n*+20m+25
D 16n® +40n + 25
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196. A triangle has side lengths of 52 + 3 inches and 22 +3 inches. If the
perimeter of the triangle is 92 +12 inches, which expression represents
the length, in inches, of the third side of the triangle?

A 2atg
B. —2a—6
C. 7a+g

D. —7a—&

197. The length, width, and height of a right rectangular prism are (5 —2x]
feet, (3-2x) feet, and x feet, respectively. Which expression represents
the volume of the prism?

x
(3—2x)ft

(5~ 2x) ft
A (—12x%+15x) cubic feet
B. (-3x+8) cubic feet

C. (4x%+15x) cubic feet

o

(4x3-16x°%+15x) cubic feet

198. Simplify4(8; — 27) — 3(=2i + 5/).

A 26i+Tj
B. 38i-13;
C. 38i—23
D. 10i—3;

199. which expression is a simplified form ofj{a[}{; = (4;;,5 = ,52'}:| — 2;;,52'?

A 6ab—8a’h
B 2ab— 8%
C. 6ab—6ah —4ab”
D- 6ab — 8a’h — 4ab’
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200. Which expression is equivalent to (3x? — 2y?)(2x? — y?)?
A 5x* + 7x%y? + 2y
B. 5x* — 7x%y2 — 2y*
C. 6x2 — 4x%y? + 2y?

D. 6x* — 7x%y? + 2y*

201. Which polynomial is equivalent to{9y; — 4) + (7y — 10)7
A 2y—14
B. 2v+6
C. 16y—14
D. 16v+6

202. Which polynomial expresses the difference of the two polynomials below?

-8k + 3% 6] - (9% — 11> +2,

At 14 -8
B 178+ 1457 - 4
C 17t -8k’ -8
D _17# — 8k -4

203. which polynomial expresses the productz(ﬂhz2 + 47— g'}ﬂ

A 4314228
B 42344723
C 473+4z-8z
D 4731473

204. Jessica had $15. She bought 3 apples for x dollars each. Levi had $27
and bought 5 apples for x dollars each. Which expression represents
how much money both Jessica and Levi have left altogether?

A 12 - 2x
B. 27 - 5x
C. 39 - 3x
D. 42 - 8x
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205. What is the product of (h — 8) and (h- 3)?

A 2h-11
B hl+24
C n*-5h+24
D 2
- 11k + 24

206. Which expression is equivalent to (2x2 - 3x + 1) + (4x? - 2x - 5)?
A 6x2-5x+6
B. 6x? - 5x-4
C. 6x2-x-4

D. 6x2-x+ 6

207. What binomial must be subtracted from(g;- — ])so that the difference of the 2 polynomials is
(Tr+ T)?
A 2r—8
B. 16r—8
C. 2r+6
D. 16r+6

208. Ifp(x)=x%+2x—-5andqg(x)=x -3, whatisp(x) — g(x)?

A 2x%-2
B. 2x%-—8
C. x%+x-2

D. xZ+x-8

209. Which expression is equivalent tox(x3 R 4xl} + 2x27

x° +5x? — dx
X+ 6x® — 3x

2
X+ 30 — 2x?

2
X 4axt —x

o0 w >
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210. What is(5x — 4) — (x + 6)7

A Bx+2
B. fx—10
C. 4x+2
D. 4x-10

211. What is the simplest form of the expression below?

A 2.2

B. 33245

C. —3*+5

D. _10y* +24p% - 14

212. Anna made and sold x ceramic vases one week. Her profit, P, in dollars, is calculated using the
formulap — g _ (, where Rrepresents her revenue and C represents her costs. If

B8 U_szand C =100 + 5x, which expression represents her profit, in dollars?

A _05x? + 20— 100
B _0.5x2+30x— 100
C. 0.5x? —20x+ 100

D.

0.5x2 + 30x + 100

213. Which polynomial is equivalent tO(x et 3)37

A 2x—16
B x?+64
C. x?+16x+64
D x?—16x+ 64

214. What is the sum of(2; + 2% + (6 + 137

A 11r

B. 8 +3
C. gl4+3
D

2
127" + 14r + 2
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215. Which expression is equivalent to (8x% + 3x + 7) + (3x2 + x - 2) -
(2x + 9)?
A 5x2+x-4
B. 5x2 - x + 14
C. 11x>+2x-4

D. 11x? + 6x + 14

216. What is(4z + 8) — (7z + 4)7

A 3z+12
B. 3z+4
C. —3z+12
D. —3z+4

217. Which polynomial is equivalent to[9; — 53 + (8 — 107 7
A p—15
B »+5
C. 17r—15
D. 17r+35

218. Which expression is the product 011"3;{ £ 2}(;{3 — x4+ 3'}'?

I3 —Ixt— 6

I+ 2t +4x—6
3 — 8x2 4+ 13x—6
3 — Bl 4+ dx + 3

oo w >

219. Which polynomial is equivalent t0453[254 —106° + 3'}’_1

gp12 — 405° + 125°
8512 - 4067 + 12
85" — 405% + 125°
g8p’ — 4068 + 12

O o w >

220. Which expression is equivalent to 5x(3x - 2)?

A ~15x? + 10x
B. -15x2 — 10x
C. 15x2 + 10x

D. 15x2 - 10x
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21 (16 — 4?4 8) + (-2 - 5P — 1) =

A s oyt T
B. 9x3+x2+9
Coogxf_o9y'+7
D 9x6+x4'+9

222. Which polynomial expresses the difference of these two polynomials?

(28 + 587 —4) - (68° - 10K + 3

A g8y 1sk -1
B a8+ 15° -7
C a8 _sK7-1
D _4x%_s5K7-7

223. The length of a rectangle can be represented by the expression},- _ | The width of the same
rectangle can be represented by the expressionxl _

can represent the area of the rectangle?

7
A xtix+2
B. Fxt-gyt-3

3
C. 2x3+x‘+5x+3
D

2ed — 32+ Tx -3

224. What is the simplest form of the expression below?

(6% +5)+ (22 -2)

A nt+2ni-10
B. —45%+3

C. 4243

D. 2

225. Which expression is equivalent to7,% — 2x3(3x3 s ]'} o

_— 3lWhich of the following expressions

A oy

B. 233

R e

D gxf — 6xc® — 257
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226. What is the difference of[10n3 i 2.} EX (5;@2 = 13.}’,J

dn+11
10n° — 6n” + 11
4n—15
10n° — 6n” — 15

OO0 wP>

227. Which polynomial is equivalent to( _ 11)2?

A 22-22
B 224121
C. 22-22-+121
D 224224121

228. A rectangle has a length of x inches and a width 3 inches less than the length. If the
dimensions were doubled, what would be the area of the new rectangle in terms of x?

2x—6
B. 8x-12
C. 2x? — 6y
D 4x?— 12«

229- The area of a trapezoid is found using the formula A = %h(bl +by)
where A is the area, h is the height, and b4 and b, are the lengths of
the bases.

bl =X - 3
/ \
/ \
/ 1h=4 \
/ \
/ \
b, =x+7
What is the area of the above trapezoid?
A A=4x+ 2
B. A=4x+ 8
C.A=2x +4x-21
D. A =2x + 8x - 42
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230. Which expression represents the area of the composite figure shown
below?

x + 15

x+ 17

X+ 27

10

2x + 15

A x?+ 52x + 405
B. x%2+ 69x + 405
C. 2x°+ 79x + 405
D. 2x%2+ 87x + 405

231. Luis designed a poster with a 12- by 18-inch rectangular picture surrounded by a border. The
border is x inches wide on all four sides as shown.

18 inches X

12 inches

The area of the poster can be represented by the expression(2x + 12)(2x + 18)Which
expression is equivalent to the area of the poster in square inches?

A 4y’ +216

B 4x? +24x + 216
C. 4x? 4 34x + 216
D- 4% + 60x + 216
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232. What is the sum of(55 — 4} + (2a + 1)7

A 1034
B 74%2-3
C. Ja-3
D. 44

233. Which expression is equivalent to (3x%2 - 5x + 4) + (2x? - 7)?
A 5x?-5x-3
B. 5x? - 5x - 11
C. 6x>-5x-3

D. 5x* - 5x-3

234. Which polynomial expresses the difference of the two polynomials below?
(6w + 81 —3) — (4w’ ~ 124° +2
A 10k’ -4 -5
B 100’ — 44’ -1
C 104’ +204° - 1
D 104° +204° -5
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235. Kerry wants to remodel his house by knocking down a wall between two

adjoining, rectangular rooms. On the blueprints, the width of both rooms
is defined by the expression (x+3).

(x4 7) {(2x —1)

{(x+3) (x+3)

Y

If the length of the first room is (2x+7]) and the length of the second

room is [2x—1), which expression models the area of the new room once
the wall is knocked down?

A Bx+12
B. 4x2+18
C. 4x2+13x-4

D. 4x2+18x+18

236. Which expression is equivalent t°|':5q}(3r — Sgr+ ?qu]-_j

10gr+ ?grz
15gr— 10@2}‘

15gr — 25gr + 35 qrz

oo ® »

15gr— 25@2}‘ + 35@2}‘2

237 Which polynomial is the product of (43( = 3:}(x2 +2x— 6} 7

A 4y 4 5%t — 30— 18

4 + St — 30x + 18
40 + 112 — 30x — 18

B
C.
Do 4?4 11x? - 30x + 18
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238. What is the simplest form of (-p + 6)(2p — 4)?
A 2p?—16p—24

207 —8p-24

207+ 8% -2

—2p% + 16p — 24

O o ®

239. What is the sum of{5yy — 4 + (2w — 137

A 10wP - 13w+4
2

B Twl-5
C. Tw-5
D. 2w

240. Consider the steps shown below.

Given: 21 8x+20=0

Step 112 L gy + (16 +4) =0
Step 2:(x? + 8x + 16) + 4 =0
Step3: (i’ +8x+16)=—4

Which property can be used to justify Step 2?
A Commutative Property

B. Associative Property

C. Identity Property

D. Distributive Property

241. What is the product of (t + 7) and (t+ 1)?

A 248
B. 2.7
Coi6r+7
D 24 8:+7

242. What is the product of(3 — xjand(3 + x)?

A g_xj
x’—9

> +6x+9
—x?—6x+9

O o ®
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243. Which polynomial expresses the product_}-(j}-2 +10v - 12'}’_1
A 311y
B. 23 +10p2 +12y
c. ni-1pt-12
D. 233+ 10p—12
244. The side length of a cube is (b+7]). What is its volume?
A 3b+21
B. b3®+343

C. b%+14b+49

D. b3+21h2+147b +343

245. What is the simplest form of the expression below?

(47 +6)+ (372

A —}'2+4

B. _3,?

c —}"L+4

D. _123*+26y% 12

246. The perimeter of an isosceles triangle is7y + 5y — Sunits, and the length of the base of the
triangle isy —v— Junits. What is the length, in units, of each of the congruent sides of the

triangle?

A Sx+2y-5
B. 3x+3v-3
C. 4x+2y-5
D. fx+4y—10

247. What is the sum 011':3(;Jr ST 433} g (?HJ' 3 433.}?

o o0 w >
[ )
L
&
=
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248. What is the difference of(5m3 s 5'} —(Tm — 18)?

oo w >

249. Which expression is equivalent to (3x + 4y) - (6x - 8y)?

A

B.

250. What is the simplest form of (5v + 4)(4v - 7)?

A

B
C.
D

—2m*-123
“2m*+13
S — Tm — 23

S — Tm + 13

3x + 12y
“3x - 4y
9x + 12y
9x - 4y

2002 + 51v —28
2002 + 19v — 28
20v2 — 19v — 28
20vF — 51v — 28
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